NLY

BWSHLJ 38 ¢ % 35¢ W il

HANDLEBAR POST FOR BWS 125 INSTALLING MANUAL

AN AIEFRMEX1.0X16MMX2
HEX SOCKET CAP SCREWS: M6*1.0*16MM*2PCS

AN AEFHRMEX1.0X30MMX2
HEX SOCKET CAP SCREWS: M6*1.0*30MM*2PCS

ItEEE 15 FE 75 E 22 ik E fth TR T\ HS ER EE
( ANRRREREE TR L I HFIR R )

THIS ADAPTOR IS FOR INSTALLING OTHER TYPE

SPEEDOMETER.
(PLEASE DON'T INSTALL THIS ADAPTOR
IF USING ORIGINAL SPEEDOMETER) / /

AN AIEEEM8X1.25X25mmX4 5 EHEE
HEX SOCKET CAP SCREWS: M8*1.25"25MM*4PCS,
PLEASE SCREW WELL.

AN ABIEFRM6X1.0X16MMX4
HEX SOCKET CAP SCREWS: M6*1.0*16MM*4PCS

X frat B IR IE R #H 3

*MARK: PLEASE SCREW WELL WITH LOCTITE

20140311-Al




